
 

KEY to REACTION PREDICTION 2 

Balanced = 1,1,1,1 or 1,1,2,1 
ii.  pH decreases (H+) is made 

Balanced = 1,3,1,2 or 1,4,1,2 
ii.  More moles of Gas on reactant side so 
less pressure  

Balanced = 2,1,1 
ii.  Na+ and NO3

- are spectator ions 

Balanced = 2,1,1,1 or 
2,1,1,1 or 1,1,1,1 
ii.  bubbling (gas given 
off) 

Balanced = 1,2,1,2 
ii. = 2e-+ 2 Ag+ � Ag 

Balanced = 2,2,3 
ii.  Cl+5 

�  Cl-1 

Balanced = 2,2,1 
ii.  A glowing splint would relight (oxygen) 

Balanced = 1,1,1,1 or 2,3,2,2 or 4,5,2,4 
ii.  A ppt. (dark blue would form) 


